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20/ 20/ 21/
1 3 4 6 7 9 10 12 11 12 1
4.1 5.2 -0.8| p-10.9 -8.6| p -15.8 n.a.
1.3 5.6 -9.5| p -20.0| -20.4] p -28.2 n.a.
1.5 5.5 2.7 5.4 1.9 7.3 -4.5
<
2.6 2.3 3.4 0.3 -0.2 0.3 p 4.l
1.1 0.7 -0.6 -2. 0.3 3.7 p-2.9
1,270 1,851 2,101 1,75 493 601 371
9.6 -26.0 32.1 -11. -31.1 3.7 3.3
0.67 0.63 0.56 0.49 0.48 0.46 0.41
-1.3 -4.7 -6.2 -14.7 -14.3 -15.9 n.a.
1.8 1.2 0.8 0.9 1.8 0.1 n.a.
0.4 0.7 1.7 4.7 4.9 4.9 n.a.
1.5 2.0 2.6 -5.4 6.6 4.8 n.a.
20/ 20/ 21/
1 3 4 6 7 9 10 12 12 1 2
( 389 500 586 39 135 62 68
34.3 -15.8 -8.9 -0. 64.2 17.5 1.1
( 16,057| 11,443 r 11,788 10,73 2,693 2,990 p 3,473
-0.5 -4.5 -3.3 -10. -17.5 -12.3] p -19.0
12,893 8,983 9,365 8,19 2,018 2,421 n.a.
0.9 -2.9 0.2 -10. -16.4 -12.6 n.a.
27 26 36 28 10 8 8
6.9 0.0 56.5 3.7 11.1 -20.0 14.3
5,504] 27,463 11,516 9,117 3,062 1,422 2,412
26.8 6.7 17.4 12.7 _26.4 _22.0 33.9
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301 2,045 125 1,780
306 3,034 338 3,290
- 5 989 212 1,510
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O
1 1 1
42,369 -720 -435
35,478 -643 -373
6,891 -76 -62
22,655 -66 125
19,064 -69 155
3,591 4 -30
19/ 20/ 20/ 21/
12 3 6 9 11 12 1
1.5 1.1 2.1 1.4 3.8 3.4 2.7
-2.5 -0.5 1.9 1.6 4.7 5.8 4.9
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20/ 20/ 21/
1 3 4 6 7 9 10 12 11 12 1
-0.025|  -0.010 0.006| -0.040f -0.001f -0.032[ -0.037
2.221 2.211 2.217 2.177 2.209 2.177 2.140
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